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Question: 1 
   
What is the correct description about the Python program? (Multiple Choice) 
 
A. the program is composed of modules 
B. the module contains the statement 
C. and the statement contains the expression 
D. the expression builds and processes the object 
 

Answer: A, B, C, D     
 

Question: 2 
   
Which of the following neural network structures will share weights? (Multiple Choice) 
 
A. Convolutional Neural Network 
B. recurrent neural network 
C. fully connected neural network 
D. all of the above 
 

Answer: A, B     
 

Question: 3 
   
In which year did Huawei formally provide services as a cloud service, and cooperate with more partners 
to provide richer artificial intelligence practices? 
 
A. 2002 
B. 2013 
C. 2015 
D. 2017 
 

Answer: D     
 

Question: 4 
   
TensorFlow supports multi-TPU cluster computing. Correct 5. What is the description about the deep 
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feedforward network? 
 
A. deep feedforward network is a kind of neural network 
B. The deep feedforward network has only one hidden layer. 
C. there are generally countless units on the hidden layer of the deep feedforward network 
D. the deep feedforward network is used to deal with linear problems 
 

Answer: A     
 

Question: 5 
   
What is correct about the description of Python tuples? 
 
A. the difference between lists and tuples is that the elements of tuples cannot be modified 
B. square brackets are used for lists, and parentheses are used for tuples 
C. the creation of the tuple is very simple, just add the element in the brackets, and use commas to 
separate 
D. when the tuple contains only one element, you need to add a comma after the element 
 

Answer: A, B, C, D     
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